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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) The question paper consists of 5 sections and 37 questions. ' ..

(i) Section-A consists of question 1-18 carrying 1 mark each and are multiple choice questions. All
questions are compulsory.

(iii) Section-B consists of question 19-24 carrying 2 marks each and are Very Short Answer Types and
should not exceed 60-90 words. Attempt any 5.

(iv) Section-C consists of question 25-30 carrying 3 marks each and are Short Answer Types and should
not exceed 100-150 words. Attempt any 5.

(v) Section-D consists of question 31-33 carrying 4 marks each and are case studies. There is internal
choice available.

(vi) Section-E consists of question 34-37 carrying 5 marks each and are Long Answer types arid should not

exceed 200-300 words. Attempt any 3.
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YUusS—d (SECTION - A)
(All Questions are compulsory)

(@ e arfard €)
1. Which of the following pranayama is helpful to reduce obesity? 1
(A) Kapalbhati Pranayama (B) Anulom Vilom Pranayama
(C) Suryabhedan Pranayama (D) Sitili Pranayama
farfoRad & & @19 A1 WO AT B FH B F GEAD 8 7
(A) HUTAHTIRY HTOTRITH (B) srJdM—faam™ wromam
(C) IHS wToma™ (D) el gromrs
Sol. (C) Suryabhedan Pranayama
2. International Paralympic Committee was formed in __ 1
(A) 1985 (B) 2003
(C) 1989 (D) 2001
FRE Reifie afify o1 74 # fobar T o |
(A) 1985 (B) 2003
(C) 1989 (D) 2001
Sol. (C) 1989
3. Which of the following is NOT the cause of Food Intolerance? 1

(A) Toxins formation due to food poisoning
(B) Absence of an enzyme
(C) Roughage
(D) Gluten
1 4§ A I A1 Ao SRSl $T SR TEI B ?
(A) @t faurhaT & §RT efdds g1
(B) USIIZ™ &I = BT
(C) Zerrer (RBw)
(D) e
Sol. (C) Roughage

4, Given below are two statements labelled Assertion (A) and Reason (R). 1
Assertion (A) : The Basal Metabolic Rate (BMR) is the number of calories needed to maintain body
function at resting condition.

Reason (R) : A person who does not engage in any work, still requires energy for the functioning of their
internal organs.

In the context of the above two statements, which of the following option is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.



Sol.

Sol.

1w Ry 1w O & iffdwed (A) T SR (R) & ®U # B |

AABAT (A): IRM & RAfY § TR & FF B 90 @A B AT MaeqF AN B T I8
I TR B |

FRY (R) : T Afth ol & 5l f SR § Fora 781 8l 2, S W) A& sawdl & il & foy S
DI AILIHAT B B |

ST & FUFI & Ad W F=faRed § 9 a9 w1 Aden |8 § ?

(A) Arff@meE (A) 3R HR (R) I G818 IR BRI (R), IW®HUE (A) & 8 AR $Hal 2 |

(B) 3@ (A) 3k BRI (R) SM1 F&1 &, Ry SR (R), 3ifAHe (A) P |E A=A el Bl 2 |

(C) ffmerd (A) |l &, R SR (R) Ted 2 |

(A) 3P (A) TTed 8, R=J BRI (R) L 2 |

(A)

Given below are function of Sports Management in List-I and their Explanation in List-II : 1

List -1 List- 1

I. Planning 1. It is a function of guiding, inspiring and instructing people to accomplish
organizational goals.

II. Controlling 2. Preparing a layout for the future course of action.

Ill.Directing 3. Ensuring that proper talent is serving that specific job.

IV.Staffing 4. Establishing performance standards, measuring actual performance and

comparing them for irregularities.
Match the items of List-1 with List-1l and choose the correct option from he following:

I Il Il \Y
A 1 2 3 4
(B) 1 2 4 3
C) 2 4 1 3
(D) 2 4 3 1
G-l 4 T Y & B AT G-l A IFDT WBRY &A1 WA B
-l Geial
|, ST 1. U8 WSS el BT GRT Bl & forg Al d1 ARG, IR iR e <1 &1 &l 2|

I1. f=or 2. sy # 8 arel SR B FWET TIR HAT |

I fcers 3. u® gHilaa o f& sfa ufonn s9 e &1t &1 g1 o= & 7

V. w1ftha 4. Y3 HHS] B RO BRI, dRKfdD Y& DI AT AR AIFAASH BT Jel A |
G-l B A& BT B gA-ll § Bifg qen frefaied # 9 wE ey &1 gaa W

| [ [ \Y
A 1 2 3 4
B) 1 2 4 3
C) 2 4 1 3
(D) 2 4 3 1
(%)
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Given below are two statements labelled Assertion (A) and Reason (R). 1
Assertion (A) : In a normal standing posture, both knees touch each other, while there is a gap of 3-4
inches between the ankles.

Reason (R) : It occurs due to Genu Valgum and it can develop due to an injury or infection in the knee or
leg, rickets, severe lack of vitamin D and calcium, obesity, or arthritis in the knee.

In the context of the above two statements, which one of the following option is correct ?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A)is false, but Reason (R) is true

1 1w Ry g & &1 & e (A) T2 SR (R) & ®U H B |

AMFHA (A) : T @S BH & Rafd § SF1 gl Ud—g@ @l Bd & oafd <@dl & 919 3-4 39 @
TR BT B |

PR (R) : I8 S deTH & BRI BT & AR I8 ged a1 R F die a1 5901, Racq, Rfefia— &k
Sfeaaa & TR N, Herar a1 geo § 13w & FRo AR 81 dahar 2|

ST & FUFI & Aed W F=faRed § 3§ a9 @1 fdvew wd 2 ?

(A) IfF®HeH (A) IR BRI (R) IFI A& & 3R SR (R), AMNHAA (A) & FEl AR AT ¢ |

(B) 3@ (A) ok BRI (R) IM1 9T &, TG PRI (R), AMGHA (A) S Tl TRAT T8l PRAT © |

(C) @M (A) € 8, TR<] HRY (R) T & |

(D) S1f¥H@®E (A) AT 8, IRy BRI (R) I © |

(A)

In which of the following fithess component an athlete gives better performance, if he/she has more slow
twitch fibre in comparison to fast twitch fibres. 1

(A) Speed (B) Strength (C) Endurance (D) Flexibility

ffaRaa gfic acal # 4 @ g9s fFad deak yeei[ oxal &, afs S g a9 I (ere =
BIgaR) B g1 § O g Il (1 09 $igaR) @1 dw@ e § ?

(A) TIfa (B) =ifth (C) Ag-terHa KEEIKIE

(C) Endurance

Identify the factor which decreases equilibrium. 1
(A) Larger base (B) Greater weight

(C) Lower centre of gravity (D) Higher centre of gravity

I HRE P! AT WA Ggeld B HH AT 2 |

(A) T MR (B) o1fdr® a1

(C) 71 oy s (D) 3= TT@THY] g

(D) Higher centre of gravity

Identify the characteristic of introvert personality. 1
(A) Meet unknown people easily (B) Self - centered

(C) Highly socialized (D) Expressive nature



Sol.

10.

Sol.

11.

Sol.

12.

Sol.

13.

JTHE Afth & @fthed @1 faRwar &1 ysaH |

(A) TSI AT A ST | e (B) M-
(C) srafdras A TRoTG (D) a1ferss ufa
(B) Self - Cantered

Jump for smash in volleyball is an example of . 1
(A) Static strength (B) Maximum strength

(C) Explosive strength (D) Strength endurance

Toflgal § WY ARA & forg I HT UH ISR B |

(A) ®&fa®s w1fts (B) etfrdmas el

(C) fpies wifth (D) wifth HE=era

(C) Explosive Strength

Which of the following is the objective of Intramural competition? 1
(A) To achieve high performance

(B) To provide career opportunities

(C) To promote health and fitness

(D) To promote cultural and economic development

1 & | 3 A iR g &1 St 7 ?
(A) S=a USRI B AT BIAT|

B) SRR & 3R UG AT |

C) %arey Td Yfke &l gerdl ol |

)

)

D) ARGfae Tad onfdf® e &1 qgrar g |

C) To promote health and fitness

According to W.H.O. (World Health Organisation) recommendations, children of should be
engaged in physical activities for 180 minutes and should have 10 -13 hours of good quality sleep per
day. 1

(A) Less than 1 year (B) 1 -2 year (C) 3—4 year (D) 517 year

foeg w@Rem WWed (W.H.0.) @ 31z IgaR IRiRe wfafafedl & enfae 8 =nfay &k 10-13 ®¢ &
gzai @1 afafed 180 fide d@ &1 sl uraa arell g o =Ry |

(A) 19§ | & (B) 1-2 a9 (C) 3-4 g% (D) 5-17 9%

(C) 3-4 year

Identify the asana shown in the picture given below and choose the correct option from the following: 1

Cf.‘\

(A) Bhujangasana B) Katichakrasana
(C) Pawanmuktasana ( ) Shalbhasana




Sol.

Sol.

14.

Sol.

15.

Sol.

= fag U fm A e @ ugaE Siforg den fre § 9 |98 fdwen g
AN

NN
NES
[_,;5,:- /
(A) YSTTTET (B) wfcasprasd

(C) gg-ig=hra= (D) T
(D) Shalbhasana

(For Visually Impaired Candidates Only)

(e gfeaita sl & fog wem)
Which of the following asana is useful for relaxation and removing fatigue? 1
(A) Chakrasana (B) Shavasana
(C) Makarasana (D) Uttanpadasana
RIfreNaR @ oUHH & R B @ forg, 791 § 9§ 319 A1 o Iuarh 7
(A) =TT (B) wrars
(C) AT (D) ST
(B) Shavasana
Which is the main governing body responsible for the organization of Deaflympics? 1

(A) World Deaf Champions Committee

(B) National Sports Federation

(C) International Co-ordinating Committee for Disabled Sports.
(D) International Committee of Sports for the Deaf

SHifae & e & foay eR 9w ydg e o | /4@ 8 ?

(A) fawg sfeR <ifaa=g afafa

(B) T W HETHH

(C) ki Wl & foy iRt Fa=ags afafa

(D) IftRT & forg iRy wor wfafa

(D) International Committee of Sports for the Deaf

Body mass index is one of the common way of assessing healthy body weight. Which of the following
MI range is considered for healthy weight? 1
(A) 25.0 - 29.0 (B) 30.0 - 34.9 (C)18.5-24.9 (D) 35.0 -39.9

T AN SR (BMI), ORI IRR @ aoiF BT 3Mherd PR B AT adbl § A U 8 | WRI-WR B forg
frfafed & & @ @ @1 v onE. aoft 31 forn s 2 2

(A) 25.0 — 29.0 (B) 30.0 — 34.9 (C) 18.5—24.9 (D) 35.0 — 39.9.
(C) 18.5-24.9
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Sol.

17.
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18.

Sol.

Sol.

In particle curl up test the different between two parallel lines is...................

(A) 8 incehs (B) 4 incehs (C) 6 incehs (D) 10 incehs
Nif¥rd del 3 WX F 1 FHMICOR YRl B d BT 3R Brar 2|

(A) 857 (B) 44 (C)6%d (D) 10 &=
(C) 6 inches

Goal settin is a approach, under motivational technique.

(A) Cognitive (B) Pedagogical (C) Social (D) Facilitation
RO Theilp & 3iita, wieg ek va eI 7 |

(A) FETTHS (B) efors (C) ar ot (D) gfaersrisd

(D) Facilitation

Which functional fitness component of senior citizens is determined in the test shown below?

(A) Physical Mobility (B) Upper Body Flexibility
(C) Lower Body Flexibility (D) Upper Body Strength
T fe@n g e F, RS aERel &1 -1 FRfEd Yfe gce MuiRa fear smar 87

(A) IR® wferefierar
(C) TR & el ¥R &1 AT
(C) Lower Body Flexibility

(For Visually Impaired Candidates Only)

(@aer gfeafa smET @ g 7<)
Which of the following test determines the upper body strength of a senior citizen?
(A) Chair Stand Test (B) Back Scratch Test
(C) Arm-Curl Test (D) Chair sit and Reach test
= # A 3 A wWer ks AR & IR & FT Wi @t ufe FuiRa wwar g ?
(A) TR LS TR (B) 9% &hd URIEU
(C) 3MmH—del uleroy (D) =R Rie vvs g gdem

(C) Arm-Curl Test
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Sol.

20.

Sol.

21.

Sol.

22,

Sol.

23.

Sol.

¥ue—9 SECTION - B

(Attempt any 5 questions)
Describe the second class lever with suitable example from sports. 2

Wdil ¥ 3Ifa IR <7 gy, g oot Saes (offaR) @1 @ iy |

Class -2 levers have load (resistance) between the effort (force) and the fulcrum. Examples of class -2
levers are when an individual stands on tiptoe to play a smash; the length of the foot is the arm of the
lever, the ball of the foot acts as the fulcrum and achilles tendon and calf muscles provide the effort
(force), lifting the weight of the body by the back of the heel and calisthenics that use the body as class-
2 lever include push ups and leg lifts. The second class lever is also used when taking off for a jump
(it may be a jumping in Volleyball to block a shot) or pushing against the blocks in a sprint start.

Enlist four test items of Johnson - Metheny Test of Motor Educability. YVox 4
e Ren—argdn (@rer Vg Aferd]) & S99 999 Wiev & IR WIEv q&l B A9 DY |

1. Front roll

2. Back roll

3. Jumping half turn

4. Jumping full turns

Write a short note on 'Menarche'. 2
RSee R |iera fewof faRay |

Menarche is defined as the first menstrual period in a female adolescent. Menarche typically occurs
between the ages of 10 and 16, with the average age of onset being 12.4 years. The determinants of
menarcheal age are continuously being researched; socioeconomic conditions, genetics, general health,
nutritional status, exercise, seasonality, and family size are thought to play a role.

Enlist four asanas those help to control asthma. Vox 4
IR IFA PN FATE X Ol IR B FRIT =71 #§ 7qg v B

1. Tadasana

2. Bhujangasana

3. Dhanurasana

4. Ustrasana

5. Vakrasana

6. Gomukhasana

7. Anulom-Vilom (Any four)

Write any two advantages of physical activities for Children With Special needs (CWSN). 1+1
feegi g=ai (Mg uay) @ foay ekiRe il & #9151 o fafag |

Physical improvements: Children, who suffer from cognitive disabilities are most likely to suffer from
physical activities enhance the hand eye coordination, flexibility, strength, endurance and even
cardiovascular efficiency.

Self-esteem: Physical activities are beneficial for children with special needs a matter of fact, interaction
and involvement with other students in physical activities help to give children a sense of accomplishment
and confidence.



24.

Sol.

25.

Sol.

26.

Sol.

Mention any two types of friction by giving suitable examples from sports. 1+1
Yol ¥ I ISRV T g N B fHEl QT USRI BN Ioord B |

Sliding friction: The opposing force that comes into play when one body is actually sliding over the
surface of the other body is called sliding friction.

Eg. Ice-skating

Rolling friction: The opposing force that comes into play when one body is actually rolling over the
surface of the other body is called rolling friction.

Eg. When a hockey or cricket ball is hit, it rolls on the surface of the ground. It stops after some time due
to rolling friction. Such type of friction is widely seen in games and sports.

YUS—IT (SECTION - C)

SECTION - C
(Attempt any 5 questions)
(=81 df= yeii & SR <)
Mr. X performs the Harvard step test for 275 seconds: and his pulse in 1 — 1.5 min after exercise was
100. Write the formula of fitness index score for Harvard step test and calculate the fitness index score
of Mr. X. 1+2
fiRer X 9 275 Advs & foy g WU <X fhar 3R @™ & 91 1 — 1.5 fime 3 S9! e (g9

) 100 oft | B WU e & fory fhead SSa Wk &1 g3 ford &R fivey X & e s W
P IO BN |

Fitness index score
= (100 x test duration in seconds) divided by (2xsum of heartbeats in recovery periods).

According to Mr. X performance his pulse in 1-1.5 min after exercise was 100 and we assume that 2-2.5
min after exercise his pulse rate was 90 and 3-3.5 min after exercise his pulse rate was 80.
S0,

_100x275
2x270

=50.92
| FitnessIndexScore | oo FOE
[T D TR
(u00.c  1>36D (Roallonts e
F(J.I%SO.D 76.0-85.9 | Good/Above average
|65.0-79.9 | 61.0-75.9 |Average
55.0-64.9 | 50.0-60.9 | Below average
s <0 [P
Comment on the concept of Talent Identification' and 'Talent Development'. 124172

T ggaE’ g ‘giawl faera’ @ sraeRen o fddemr STy |

Talent Identification. Talent identification can be defined as that process by which children are
encouraged and motivated to participate in sports at which they are most likely to get success in future.
They are tested on the basis of selected parameters. These parameters are designed to predict their
performance capacity. In this process, their current level of fitness and maturity is taken into
consideration. Talent identification is the first step in the progression from beginner to successful

international athlete.



27.

Sol.

28.

Sol.

Talent Development: Talent development provides suitable learning environment so that athletes' talent
can be realized. It is the first step in the progression from the beginner to successful international athlete.
This phase provides such a learning environment which convert young athletes into sporting stars of the
future. Talent development is the next significant phase in the achievement of sporting success.

Explain the responsibilities of any two committees during sports competition. 12412

Wl yfaaifar & SR fb=gi a1 |fffadl @ il o e & |

1. | Record award committee: | To keep record intact

To make positions.

To declare winners

To provide medals and certificate

2. | First Aid Committee Make sure first Aid kit and doctor available on the field for an
emergency.
3. | Boarding and lodging To ensure good accommodation for everyone
committee To ensure arrangement of meals for all
To provide refreshment coupons to teams and officials.
4. | Ground Equipment To provide safe and quality equipment

Make sure all fields and grounds are safe and perfectly make.

Explain the procedure and benefits of anyone asana for back pain. 2+1
PR G< B fo1¢ fHell P o= &1 Ufhar 9 AT BT quid PHIfTY |

Bhujangasana

Procedure

e Lie down flat on your abdomen, in the relaxation posture. Cross your hands in front of you so you

can place your head on them.

Slowly bring your legs close together. Place your forehead on the floor.

Move your arms so that they are folded at the elbow and your palms are close to your shoulders.

Raise your elbows off the floor slightly. Inhale. Raise your forehead with your chin pushed out.

Raise your torso from the ground.

Ensure that your abdomen remains pressed to the floor.

Reflect on the movement of a snake raising its hood and gradually feel the stretch of your spine.

Maintain posture.

e Unwind slowly till your body is back flat against the floor. Keep your head lifted till your torso
completely unrolls.
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Some of the main benefits of Bhujangasana are listed below:

Increases Flexibility. As mentioned above, this yoga pose stretches many body parts. ...
Reduces Body Fat. ...

Boosts Digestion. ...

Unblocks Chakras. ...

Improves Blood Circulation. ...

Strengthens Muscles. ...

Reduces Respiratory Problems. ...

Regulates Menstrual Problems.

Write short note on Female Athlete Triad. 3
AEe—urae T R Aferg feweh faRay |
Female Athlete Triad

Low Energy

Availability
Dsordered cating
Rentricted eating
Not eating enough

Osteoporosis :- Osteoporosis refers to decreased bone mineral density. It is a skeletal disorder. A
reduction in bone mass may cause fracture. In fact, low oestrogen levels and poor nutrition, especially
low calcium intake can lead to osteoporosis. It is one of the significant triad of female athlete.

Amenorrhoea :- Is a menstrual disorder or illness in women where girls of 18 years and above either
never began menstruating or there is an absence of menstruation for three months or more than that in
women with a history of normal menstrual cycle. Amenorrhoea can also be defined as the cessation of
woman's menstrual cycle for more than three months or more.

Types of Amenorrhoea

(1) Primary Amenorrhoea

(2) Secondary Amenorrhoea

Eating Disorder :- Most of the girls with female athlete triad try to lose their body weight as a way to
improve their performance in the field of games and sports. In order to lose weight, they may practice
unhealthy weight-control methods, including restricted food intake, self-induced vomiting.

There are following types of eating disorders :-

1. Anorexia Nervosa

2. Bulimia Nervosa



30.
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31.

Describe any three physiological changes due to ageing. 1+1+41
U & BRU B dTel B2l A RR fharee aRkadi &1 9o 3 |

Physiological Changes Due to Ageing
Changes in Senses:- With advancing age, the senses such as vision, hearing, taste, smell, touch etc.
may become less acute. Vision and hearing are most affected by ageing. The main changes in senses
are:-

+ Changes in Vision

« Changes in Hearing

« Changes in Taste

« Changes in Smell

Cardiovascular System:- Blood vessels tend to lose elasticity, leading to increased arterial stiffness.
Buildup of fatty deposits (plagques) in arteries may occur, potentially affecting blood flow. The heart may
pump less blood per beat.

Respiratory System:- Lung capacity and elasticity may decline, leading to decreased respiratory
efficiency. The chest wall may become less flexible.

Yus — § (SECTION - D)
(Internal choices available)
(Pt = oAt @ STR ©)
A survey in an inclusive school setup found the discrepancies between the participation of normal and
special child during annual sports meet. Study the table given below carefully—

S.No Event Normal Child (150) | Special Child (10)
1. 100 Mtr. 40 5
2. 400 Mtr. 25 2
3. Long Jump 20 0
4. High Jump 15 1
5. Relay Race 8 4

Based on the above study and your knowledge, answer the following questions:
(A) As per the above table, in event, there is no participation of Special Child.
(B) Participation of students with disabilities in regular physical education classes is known as
(C) Enlist. any two strategies to make physical activities accessible for children with special needs.
(D) Motto of Special Olympic is
OR

(D) The motto' of Paralympic is

(For Visually Impaired Candidates Only)
Write short notes on 'Paralympics' and 'Special Olympic'
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32,

TH qaeqer § e qaah fene & e wa gfoaifiar & SR 9 ok fa9y gzt @) 9rier) &
g fagfodt oig i | R § 1 aiforet &1 eaYde e an—

%A e | ufoafar | | BT (150) faey 813 (10)
1. 100 #I. 40 5
2. 400 . 25 2
3. B 20 0
4. S T/T 15 1
5. Ret < 8 4
JURID T G U9 1M & AR W 71 Tl & IR AT
(A) SIRITH TIABT B ATHR F gfrafiar # faRy sEt @ B AriERY 9@ 2
(B) fafya =miiRes Rien wemell # e B3 & Arfier &1 ERASIGIR

(C) faRy sawadsar arel g=ai @ fog TRIRe AffIfdl 1 g a9m o 5=l Q1 oot & gdieg
BT |
(D) faRIy anfafras &1 aest are =

|
(D) Y=uferfeaes @1 et aray 2

(@aa gfeaia o&E & fag wem)

Wferfas’ 9 Ao anferfae’ ox dferg feweh falag |
(a) Long Jump
(b) Inclusion in education
(c) 1. Medical check-up
2. Physical activities must be based on interests of children

(d) "Let me win. But if | cannot win, let me brave in the attempt."
OR

I

Image-1 Image-2 Image-3
Based on the above study and your knowledge, answer the following questions:
(A) Which type of fracture you see in image-1?
(B) When a bone breaks diagonally as shown in image-2, it is known as
(@) fracture occurs when the broken ends of the bones are jammed together by the force of
the injury.
(D) In which type of fracture bone is broken, splinted, or crushed into number of pieces?

(For Visually Impaired Candidates Only)

Describe types of fracture. (Any Four)

"Spirit in Motion"

Study the pictures given below:
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fm-1 -2 fa=-3

JURRH AT G I T4 @ IR TR 41 gl & Iax AT

(A) ffrF—1 & amu fra UedR &1 AR (hereR) @ B & ?

(B) W1T B3 BE! Rl gedhl 2, o & form—2 # fagmn = 8, 4@ 59 & w9 H SIE A1 B |

(C) TR 79 21T B O die & 94 W B3Il & o gU AR omuw 7 &9 9 2|

(D) fre TR & aiReni @aem) F B8 < o 2, R & S ¥ @ F gt F gaeh o ¥ ?
(@aa gieqndd sEl & fog ue)

IR B TBRI B AT FINY | (DS IR)

(a) Simple fracture

(b) Compound fracture

(c) Impacted fracture

(d)

d) comminuted fracture

Study the fixture given below: 44+1=4

10

11

12

13

14 |
——— |
15

On the basis of the above study and your knowledge, answer the following questions:
(A) According to the above fixture total number of rounds will be
(B) As shown in the fixture if the winner team plays least number of matches, then which number of
team is the winner?
(C) What is the formula for calculating number of matches in a knockout tournament?
(D) If 19 teams are participating in a knockout tournament, then how many byes will be given to draw a
knockout fixture?
OR

(D) What is the formula for calculating total number of byes in a knockout tournament?

(For Visually Impaired Candidates Only)
How 'Sports Day' and 'Health Run' contribute to spread health awareness and harmony? Explain.
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I Ry U TR 31 IR B

JURIH NI G I T4 @ MR R 41 uedi & Iax AR

(A) SWRIT fraaer & AR ST B Fo G BT |

(B) SRIth fhaweR & ER Il afoaifar @ faorar $9 9e9 &8 99 god! 8, a1 59 w9e o <9
faoran srfr ?

(C) TTHIMIT TAMCT H HAl B F&T BT T S Bl G5 9T © ?

(D) 9f% T Th—amse URAfar # 19 S Wi of & &, @1 7o ST haweR g9 w9y fha arg &

ST ?

q1
(D) FH—am3e AfrAfar § 918 & el A B TAOET IR BT I T 8 ?
(Paa gfeaia s&El & fag me)
W Rgw’ 7 wWrey A9’ 59 TR WReY WFTw™dhdl g Wigle Bl d e &Rd & ? 999 HIT |
(a) 4 rounds

(o) Team - 15
(c)n-1
(d) 32 — 19 = 13 bye will be there
OR
(2)1, (2)2, (2)3, (2)4eeereereereeereennens — No. of teams.

¥YUs—Y (SECTION - E)

(Attempt any 3 questions)
s & T & S §)
What do you understand by Aggression in sports? Explain any 2 types of Aggression by giving suitable
examples from sports. 14242

WAl § IMPTHHAT  AYH] FIT A 87 Tl A IWYh SaTexYl o 8T b=l a1 THR B SMHHEDBAT DI
AT B |

Meaning and Concept of Aggression

In psychology, the term aggression refers to a range of behaviours that can result in both physical and
psychological harm to oneself, others or objects in the environment. This type of social interaction centers
on harming another individual either physically or mentally.
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1. "Aggression is a behaviour with a goal of harming or injuring another living being who is motivated to
avoid such treatment.”

2. Aggression is defined as "any form of behaviour directed towards the goal of harming or injuring
another living being who is motivated to avoid such treatment." (Baron and Richardson)

3. "Aggression is noun that is generally defined as an act of aggressive behaviour."

Types of aggression
Hostile Aggression

2. Instrumental Aggression

3. Assertive Behaviour

1. Hostile Aggression: Hostile aggression is inflicting or causing harm whether it is physical or
psychological on someone else. It is sometimes referred as reactive aggression and can be
accompanied by anger. In hostile aggression, the main aim is to cause injury to other sportsperson.
rson. The intention is on causing pain and suffering. In simple words, hostile aggression is when the
primary aim is to cause physical harm or injury to your opponent.

Eg. A good example of hostile aggression is a bowler throwing a bouncer deliberately to shake up
the concentration of a batsman. Some cricketers have deliberately done this in the past with the intent
towards causing injury.

2. Assertive Behaviour: Assertive behaviour is different type of aggression/aggressive behaviour. This
is defined as behaviour that involves the use of legitimate physical or verbal force to achieve one's
purpose. For example, sledging in cricket to cause psychological discomfort for the batsman. For an
act to be assertive it must be goal directed with no specific intention to harm with the use of legitimate
force with no rules broken. In assertive aggression or assertive behaviour, the intention is to establish
dominance rather than to harm the opponent. Any physical injury that may occur through assertive
behaviour is accidental and unintentional. In fact, assertive behaviour is related to four main criteria
i.e., it is goal oriented, not intended to harm, uses only legitimate force and does not break any rule
of the game or sport. Even when coaches say to their players to be aggressive they mean to say that
they be assertive.

What is Balanced Diet? What is the significance of pre and post competition meals for an athlete? Explain.
14242
Agferd ameR @1 & ? el Raes! & fog ufoaifiar & 4d 9 I9a yven R &1 a1 J8wd & 2 9o

DI |

Meaning of a Balanced Diet

A balanced diet refers to the intake of edibles which can provide all the essential food constituents
necessary for growth and maintenance of the body, in definite amount in which they are required by the
body. A balanced diet means eating the right amount of foods from all food groups.

"A diet which consists of all the essential food constituents, viz., proteins, carbohydrates, fats, vitamins,
minerals and water in correct proportion is called a balanced diet."

Nutrition Before the Competition

What a sportsperson consumes before a competition or training is really very important for a good sports
performance. As a matter of fact, at least a week before competition, an athlete/sportsperson should take
complex carbohydrate foods which usually help in enhancing the glycogen stores. Miller suggests that
500-600 g per day may make muscles store over 20 per cent more glycogen. The fuel for muscles is
usually provided in the meals at least 3-4 days prior to competition. Therefore, it is very important to take
a high energy meal not only on the day of competition, but also several days before. In fact, the intake of
nutrition also depends on the intensity and type of activity being performed. Glucose is usually preferred
as the best energy source, especially for the activity of high intensity.

So, before competition, the diet or meal should be rich in carbohydrate and low in fat, protein and fibre.
Such type of diet may include bread, cereals, potatoes, pasta, rice, fruits and vegetables for quick energy.
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Nutrition After the Competition

Nutrition after the competition is essential for proper recovery. Such nutrition is extremely important, as it
will determine the recovery and energy level of the sportsperson for the next day's competition. First of
all the preference should be given to replacement of any fluid loss. This can be easily done by the intake
of water or fluid replacement drink. It is equally significant to take some carbohydrate immediately within
15 minutes after competition to start restoring glycogen. For this purpose fruits, juices and sports drinks
may be included. High carbohydrate drinks may be used. Meals after the competition should be taken
within two hours of the competition for the best glycogen restoration. About 100-200 g carbohydrate along
with lean protein like meat or chicken should be taken. Intake of protein with carbohydrate after
competition will definitely help in building, maintaining and repairing muscles. At least 20 g of protein is
required after competition to enhance muscle recovery. It can be derived from the food like cheese, egg,
milk, yoghurt, etc.

After two hours of competition, a sportsperson should take a complete balanced meal. In this meal,
carbohydrate in the form of grains, rice, potatoes, cereals and vegetables and fruit and protein in the form
of meat, fish, soyabeans, bread, peas and egg should be included. Various studies have shown that
intake of carbohydrate approximately 2 g per kg of body weight and 40 g of protein within 2 hours after
competition speed up the replenishment of glycogen stores and recovery time.

What do you understand by projectile trajectory? Explain the factors affecting projectile trajectory in
sports. 1+4
TS U W Y T FHE ©° Wl H U U Bl UWIfAd HR aTel HRDT DI AT BN |

Projectile

An object thrown into the space either horizontally or an acute angle under the action of gravity is called
a projectile. There are two forces which act on a projectile gravitational force and air resistance. Air
resistance of an object varies greatly and it depends on the object's particular shape and the atmospheric
conditions in which the object is released or projected. The path followed by a projectile is called trajectory
or parabola. In the field of games and sports there are many examples of projectile such as a bullet fired
from a rifle or pistol in shooting, the arrow in archery, putting the shot, throwing a hammer. discus and
javelin in athletics and long jumper while performing jump, etc. The description of various examples of
projectile motion in sports is given below:

Football kicked in a game: When football is kicked in a game of soccer, it travels a certain distance in the
air and it falls at an angle to the ground. This is an example of projectile motion.

Javelin throw: In javelin throw, a javelin is thrown to the maximum distance. In javelin throw, a thrower
runs a short distance to get some amount of momentum and then throws the javelin. The javelin travels
a certain distance and then falls down following a parabolic path. The angle of the throw is very crucial
as it determines the distance travelled by the javelin. Wind factors like wind speed and the direction of
the wind are also crucial as they may affect the motion of the projectile.

Long jumps: In long jump, jumper has to jump to gain maximum distance. In order to increase the
distance, the angle of the jump is very crucial. A maximum distance can be covered by a long jumper if
he takes jumps at all angle of 45°.

Factors Affecting Projectile Trajectory
There are following factors that affect projectile trajectory or on an object's (an athlete, a hammer, a shot,
a javelin or a ball) flight:



Angle of projection: Any object when projected at different angles,
as shown in the adjacent figure, covers different distances. When it is
projected or released at the angle of 30°, making a parabolic path, it
covers less distance, i.e.. AB. When it is projected at the angle of 60°, |
it covers a distance, i.e., AC and when it is released at the angle of \
45°, making a parabolic path it covers the maximum distance, i.e., AD.
Here, it is supposed that the initial velocity in all the cases is same.
So, the distance covered by an object (implement such as shot, -
hammer or javelin, etc.) depends on the angle of release of projectile. * 7.5, o S5 e el
Scientifically, it can be said that the angle of 45° is the best angle for aidifierent:anglos
achieving maximum distance. If an object is projected at the angle of 90°, it does not cover any
distance but falls on the same spot from where it is projected.

.

Projection height relevant to the landing surface: If the height of the projection and the landing
surface is equal then release the object at the angle of 45°. If the level of the landing surface is more
than the height of projection, increase the angle of projection, means above than 45°. If the level of
landing surface is less than the height of projection, decrease the angle of projection, means less
than 45°. So, the horizontal distance of an object depends on the relevancy of projection height and
landing surface. For example, a golfer hitting a ball off the top of the hill would hit it farther than a
golfer at the bottom of the hill. The ball will stay in the air longer so will have a greater chance to gain
distance. In javelin, to gain more distance, throwers hold the javelin up higher to create a greater
height of release.

Initial velocity: The distance covered by an object depends on the initial velocity of the projectile. If
the initial velocity is more, the object covers maximum distance. On the other hand, if initial velocity
is less, the object covers less distance.

Gravity: It is the force of attraction exerted by the earth towards its centre on a body or an object.
The greater the weight of an object, the greater the influence of gravity upon it. Gravity affects a
projectile as it decreases the height of projectile can obtain. The force of gravity acts on the object to
stop its upward movement and pulls it back to earth, limiting vertical component of the projectile.

Air resistance: When a projectile moves through the air, it is slowed down by air resistance. Air
resistance decreases the horizontal component of a projectile. The effect of air resistance is very
small, but it needs to be taken into consideration if you want to increase the horizontal component of
a projectile. There are following factors which are related to the amount of air resistance acting on a
projectile:

(i) Surface of the object.

(ii) Surface to volume ratio

(iii) Mass. Air resistance depends on the mass of the object

(iv) Speed
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What is Endurance? Explain any two types of Endurance on the basis of duration of the activity with

suitable examples from sports. 14242
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Endurance

Endurance is the ability to sustain an activity. Barrow and McGee, define endurance as the result of a
physiologic capacity of the individual to sustain movement over a period of time. Herre also defines
endurance as the ability to resist fatigue. In all sports activities, endurance is directly or indirectly of high
importance. It is usually measured by the number of repetitions. For example, the number of sit-ups an
individual can complete in one minute is often used to measure the endurance of the stomach muscle.

Types of Endurance According to the Duration of Activity
According to the duration of sports, endurance can be divided into the following types.

(a) Speed Endurance: Speed endurance is the ability to resist fatigue in activities lasting up to 45
seconds. The event of 400 m sprint is the most suitable example of speed endurance. Speed
endurance is mainly dependent on the power and capacity of energy production.

(b) Short-Term Endurance: Short-term endurance is needed to resist fatigue in sports activities lasting
from about 45 seconds to 2 minutes. This endurance also depends to a large extent on strength
endurance and speed endurance. The endurance needed for 800 m race is the most suitable
example for short term endurance.

(c) Middle-Term Endurance: The middle-term endurance is needed for such sports activities which last
from 2 to 11 minutes. It also depends on strength endurance and speed endurance but to a limited
degree. The endurance needed for 1500 m race and steeple chase race by a runner is the most
suitable example of middle term endurance.

(d) Long-Term Endurance: Long-term endurance is needed in such sports activities which last for more
than 11 minutes. The sports activities such as 5000 m, 10,000 m cross country and marathon races
require such type of endurance.



